20235k HiREE S IR UER
MEE ZRVEDIRE
1.C 2.0 3.C £.B5C6.D 7B 81 9.5D 10.BC 11.AC

Y

12. (8 %) (1) B (2) % (3) 2.8 (2. 8n/s tH& ) (1) kv
13. (84+) (1) B (2) W) (3 7. (4) BC (L CB) (2 4. e Yar. HNDAET)

. 1f 370

14. (895 fif: (1) W& RRMHENGSM O 5 3R R4
] HU AN ,

sin(C = — 1)
n

BGE @ A 12985, AL &1

h
1

N
() Amisl gz, BRI P s AR M S92 g, WDERIERERE VLS O L. OM
MM, 270 A x, WAy

tan s

[

. X
tan{ = — 3
hr

htbiehr, 4) 1
d :

r=x+— 1
R

h

CHEE A S, 4
S=m 5)
G B4

I ; i}: g

[ > 3
w=1 =

UK 65 25, JERAFH 1A

15. (10 70) #F: (1) AR, - dndel s (i 4

N=7l

mg s+ pumg cosfh=ma~— (2 1)

Bl 2a=068m/s 5 N2 )
AR 1 e".:'l='=iiﬁ";ﬁﬁ.f_3£:-"l Bl b (1 5)

(OO0 Sl . 47 & R R 2 i, i PR 1Y
W =(mgsin®+ umgcosNL =0 3 71)

it =238 2 )



16. (1) B PRy MGn i, digd Joh gl
/- Biv, 0
R

1P QAN RIFAE ARG . AT ik F RN
J
F.=21Bl 2) (291 Y
; (,f" O

(2 4)

Q. . 1.
82745 K P ) @ Y
¥y
2. e
2B Py B < ,ﬁhffé"”'
Fo=— 3 (1518 S

(2) UL P {3 NI AR R . P20 Qo 45 0 1 755 gk )0 200 31 GRS R
‘!’HI"HJ/{‘H 1 ’21’ TI-L.)‘J Vi. V2 ’]:|

GBI P Q— & {5

— 1/ = == L
k= e 1150y Celedrih By = By, filey = — B @YD)
l

(3) (1 o)

HANRCE M [} — LBl = 2m(y, - v,) 6/ (1 %)
BI | |
Wi ] 1 ren 2m(y, =1,) & (1 7))

(i 20708, th 1P ee Qi i FREIg b " E G s A4 fnb it SO0 Bl 22 A, 4]
Ly R W TN B SR

B N
2 = e ) &) (2 4)
R
QO 3ERTL. P U SRS . (] QLT RS aEL . L P aml)éj S

Rid. |24 ‘6&
s "%\ .5%
Bl o,
=mv, 9, (2 .rrJ %gﬁ;

v, =—v, 10
v, =2v, 1 @

Zefr PooQ oY **i"l}/% .f;:,i}“% 7y
(1..= ]-%-—%l{l r_: 13 €1 7
> 2

"ol

() = ) rf -1 )+ —nn‘f (1)

IJ | L

= u 14




